
 

8460 

HONDA CBR 1000RR 
2017 - 2019 
 Part Nr. 671 

 

872 

879 

M8 x 30 DIN7380 

739V 
2x M8 DIN9021 

M8 DIN934 

 

818.118 mm 

M8 x 25 DIN7991 

M8 x 20 DIN7991 

M6 x 30 DIN7380 

M6 DIN985 

M6 x 10 DIN7380 
814RA 

813LA 

BRAKE HOSE    45° - 200 mm (center-end) - H650-31+H short 

M6 x 40 DIN7380 

2x M6 DIN934 

M6 x 35 DIN7380 

817 + Ø12 x tl.12 
M6 DIN985 

 

M6 x 16 DIN7380 
816R 

 
 

BD11 
M6 x 25 DIN7380 

M6 DIN934 

 
 

M8 x 50 DIN6921 
807 

M8 x 30 DIN6921 
807 

739D 

2x M8 x 20  

DIN912 

810R 
M6 x 25 DIN7991 

 

M8 x 60 DIN6921 

+ Ø22 x tl.15 

MAIN PLATE 739 R+L 

902 


